
 

 
 

Corporate Office  : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.) - 324005 

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
PAGE NO.-2 

Toll Free : 1800 200 2244 | 1800 258 5555  | CIN: U80302RJ2007PTC024029 
    

10. If x and y are of same sign, then the value of  
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is equal to 

 (A)(x � y) (x2 + y2) (B) (x + y) (x2 � y2) (C) (x + y) (x2 + y2) (D) (x � y) (x2 � y2) 
 
 

11. For f(x) = tan�1
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 (A) fmax =  
12


  (B) fmin = 0  (C) fmin does not exist (D)  fmax = 
2
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12. If f(x) = 
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 then 

 (A) Range of gof (x) is (�, �1)  [2, 5]  (B) Range of gof (x) is (�, �1)  [2, 5) 
 (C) gof (x) is one-one for x[0, 1]  (D) gof (x) is many one for x[0, 1] 
 

13. If f(x) is identity function, g(x) is absolute value function and h(x) is reciprocal function then 
 (A) fogoh(x) = hogof(x)    (B) hog(x) = hogof(x) 
 (C) gofofofohogof(x) = gohog(x)   (D) hohohoh(x) = f(x) 

14. The function y = 
x

1 | x |
 : R  R is 

 (A) one-one  (B) onto   (C) odd   (D) into 

15. If , ,  are roots of equation tan�1 (|x2 + 2x| + |x + 3| � ||x2 + 2x| � |x + 3||) + cot�1 
1
2

 
 
 

 =  in 

ascending order ( <  < ) then 
 (A) sin�1 is defined    (B) sec�1 is defined 
 (C)  �  = 2       (D) || > || 
 

16. If f(x) and g(x) are two polynomials such that the polynomial h(x) = xf(x3) + x2g(x6) is divisible by            
x2 + x + 1, then 

 (A) f(1) = g(1)  (B) f(1) = �g(1)  (C) h(1) = 0  (D) all of these  
 

17. 1 + [sin�1x] > [cos�1x] where [.] denotes GIF, if x 
 (A) (cos1, sin1)  (B) [sin1, 1]  (C) (cos1, 1]  (D) [cos1, 1] 
 

18. If the solution of equation  sin(tan�1x) =    
2

1 14 sin cos x cos sin x   
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 is a, then 

 (A) sin�1a + cos�1a = 
2


 (B) 2sin�1a + cos�1a = 
2


(C) sin�1a + 3cos�1a = 
3
2


(D) tan�1a + cos�1a = 
2


 

19. If f(x) = 
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 then (where {x} represent fractional part of x) 

 (A) Df R  (B) Rf  [0, 
3
1

)  (C) period of f(x) is 1 (D) f(x) is even function 

20. Which of the following is true for f(x) = (cosx)cosx, x  
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 (B) f(x) is increasing (C) f(x) is many-one (D) f(x) is maximum at x = 0 

21. If f(x) = tan�1 
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 is a bijective function from set A to set B then which of the following may be true 

 (A) A = (�, �1), B = 
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 (C)  A = [1, ), B = 





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 0,
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   (D) All of these  
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